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Jau Ri 1 13 18 31 38

R = (13+18+31+38)/4  = '-100/4 25

s = x(Rj-Rj2 = (13-25)2+(18-225)2+(31-25)2+(38-25)2

e 398

maxS = x:(R. m-&=I t10-25~2+(20-225)2+(30-25)2 -~(38-225)~

zz 500
398

W = - = 0.796
500
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$0 W = 12xRj2/(n2k(k2-l)-3(k+l)/(k-1)

z 12(132+  182+ 312+382)/1i12  (4) (42-  lb-3(4+1)/(4--l)= 0.796

tihm s, =
12 ~ Rj2

-3n (k -b  1)
nk(k+l)

= 12 (132+182+  312+382)/10 (4) (4-k 1) - 3(10)  (4+  1) = 23.88

rihY-4 iv 1 (23.88) = 0.796=

io(4 - 1)

rijefibmm  TjS, tm:yLFi

10 ( 0.796 ) - 1
‘(31  = ‘Z 0.773

1 0 - l

lunim~~auu"ui7~~~oJ  w tmiiu-n&%i~nnnou  s, Gidu

vi = (t+l)D
r(k+l) ( t - l )
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2 1 2 2

2 2 2 1

R=(5+7+$+7+7)/5=6

M:D EC 4(2+1)/2  ~6

7

4

7

7 '

max S = (4-6)2+(5-662+(6-6)2+(7-662+h3-66)' E= 10
'2

&I tnax S = 5(52-1)/12  = 10

W = 8110 e 0.80

D = 38)=6.4

&I D = $( 52+72+42  + 72 +72) - 9 ( 5 - 1j2 = 6.4

iJ~$iiidrih~il~~  (D < x = '!; 9.49)

(Coeflicient  oi  ConsSstence  and  Agreement In Paired  Comparisona)

K = S-minS ;  S  =  ~(R$i)2maxS-minS  ; .

K = J2&fi*a2
k(k -1)

; k

= 12 ‘L(R$)  2-3k

k(K
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K = 1+(R-m2
k(k -1)

= e$!ilil)  = 0.4

d = k(k-l.)(2k-1)/12  - E+2

=  5(4)(10-I)/12  - 24/2 =  3

r/ = k ( k - 1 )  (k-2)/(k-4)2 = 5(4)(3)/(l)*  = 60

T
= e4 ((  ;)/4-d+l/:)+d



T = 4 (S- (l/2) (;I (2 (n-3&n-2))
n-2

mJoJlU 1 3 4 3 3

2 1 3 2 2

3 0 1 2 3

4 1 2 2 2

5 1 2 1 2
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= 2 0 - 4  (13)+(,4)  (5,)  = 20-52+60

zz 28

M  = 2(.28#4”,)  (5,)--l  = 0 . 9 3 3 - l

4
T = - ST-($)  (i, (,k, n-3

n- 2 ! n - 2 1

Between Nominal  Variable and Ordinal Variable)

ET 7.08 4 41



%2 = 0 (0 - 20)  + 2 (0 - 20)  + 5 i0  - 15) -I-  2 (5 - 10)  f 1 (10 - 0)

= 0 - 40 - 75 -lO”.?O, -115

%3 = 0 (O-4)  + 2 (l-2)  + 5 (3 - 0) f 2 (5  - 0)  + 1 (5 - 0)
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= - 2 + 15 + 10 + 5'z  28

s,, z 2 (3-O)  f. 5 (5-O)  -I-  2 (5-O)  + 1 (5-O)  c 46

%!3  = ‘5 (3-o) -+  5 (5-o)  + 10 (5-o) = 90

S24 = 5 (5 - 0) + 5 (5 - 0) -I-  10 (5 - 0) = 100

Ssr = 1 (o-22) + 2 (3-o) + 2 (5-o) = 14

i I qi I r 115 + 28 + 46 + 90 + 100 + 14 = 393
111

n2-  x.n;  =x 4d2-  ho2 -I-  202 -I-  52 + 52) = 1050
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72 = SST-SSW
SS? = 1 -SSW/SST
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twn  (xl '91lU Mtikl

Y 4 4 5 6  ti 12 3 3 4

7 7 8 910 " 5 5 5 6 9

y = (66-43)/20  = 5.45

SST =x(Yij-y)* = xYtj- (IIYijhl  = 703-(lo9)2/20

= 108.95

%
= 66/10  = 6.60, y2 = 43/10  = 4.30

SW1  =, <' (Yil-yl)*  = EYil - (~Yij)*/lll = 472-(M)*  ~0 = 36.4,

ssvi2 = f' (Yi2-T2+  ~Yf,-(~Yi2)2/n2 = 231-(43)*/10  = 46.20

SSW = SSVJ4+SSVJ2  = 46.40+46.10  = 82.50

$tiu

A2? = l-SSVJ/SST = l-82.50/108.95  = 0.243

4 = 0.493

F = 0.243/C \
(l-0.24:$(20-2)

= 5.771
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